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6.2.2
21b (2 mawn) 2 22b (prwan 7731)

12 mwn: using bed legs as support for the wall of the 700

a. provalid
b. 777 77 if the n710 couldn’t stand without them, invalid

Reasoning: not yap (N 1 requires yap n17) OR

1. Support with: nRMV Yapnn 927
Splitting the difference: if you built metal poles (ap, but not nkmv Yapn)

2.
»axn: nT *1 only invalidates if the bed-legs are holding up the 720, but if he put pegs into the

bed and 790 over it — fine (both ap and not nkmv Yapn)

L
i

ii.

II. 22 mwn: various proper m210
nsbarm: discussion re: meaning of word in X)

If majority shade: even if so thick that stars cannot be seen through it
Seems that: 50/50 is invalid — opposite of implication of &:X
Answer: above — 50/50 is invalid; if even below, 50/50 is valid

a.
b.
i.
ii.
II. Meaning of nY521n
a. 37 “poor” n2w (scant 79, as long as no continguous 3 D’Nav of airspace)

i. Hereads: 1 clause in mwn — n%52y1 (as long as majority shade)

b.  Sxmww: 700 alternating up and down
i. He reads: 2 clauses — n%9211n (up and down) and majority shade

»an: YRW’s ruling only applies if there are less than V" between them (altitude) —

Otherwise: they are disjointed and the n21v is N9

C.
i
~27. this caveat only applies if the upper reed is less than a nav in width, if thicker, we consider it an

d.
90X and it “comes down” and joins the lower, even if >v". (07 vIaN)

Proof: mwn in mYnR (n:2°) — if there is more than nav height between lower and upper beams

1. Then it is: considered an YNk and nkmv is continued
Challenge from &7 re: pay vy (bringing beams [less than a nav wide together] to form a nx'nn)
Considered together: if the upper is less than mnR '3 high and the lower is above v
Answer: means if both are within that range and are within v" of each other

i.

ii.
1.
2.
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